L5.6a Inverse Functions
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3 Sample answer: switching x and y; You can

graph the inverse to check your answer.

17. gx)=—-2x+8;
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18. g(x) =3x+ 3:
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b. no; The x- and y-coordinates were not switched.

; 22, a. yes; The x- and y-coordinates are switched.
¢. no; The x- and y-coordinates were not switched.
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g =¥—x;
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When switching x and y, the negative should not be switched
with the variables;
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no; The function does not pass the horizontal line test.

no; The function does not pass the horizontal line test.

no; The function does not pass the horizontal line test.

. yes; The function passes the horizontal line test.

yes; gx) = Vx + 1

yes; g(x) = V—x + 3



